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QUESTION 1

In which two circumstances is Diameter Peer Discovery needed? (Choose two.) 

A. The Diameter client is rejected by the peer. 

B. The Diameter client must contact a first-hop Diameter agent. 

C. The Diameter agent must reply to the connect request of a Diameter client. 

D. The Diameter agent must search the next agent so that Diameter messages can reach the Diameter server. 

E. The Diameter agent must close the session with a Diameter client. 

Correct Answer: BD 

 

 

QUESTION 2

Which two configurations are required for narrow band SS7 configuration in the Cisco ASR 5000 system? (Choose
two.) 

A. link type configuration in the SS7 routing domain 

B. framing type configuration at the card level 

C. SCCP network association at the port level 

D. Iu-PS service association at the port level 

E. peer server configuration at the SS7 routing domain 

Correct Answer: AB 

 

 

QUESTION 3

Which option lists the correct order of the SS7 routing flow in the Cisco ASR 5000 SGSN system? 

A. The call control profile is checked for any rejection, then the map-service is checked for any form of routing
definitions. 

B. The map-service is checked for any form of routing definitions, then the call control profile is checked for any
rejection. 

C. The call control profile is checked for any rejection, then the SGSN-Service is checked for any rejection. 

D. The SGSN service is checked for any rejection, then the call control profile is checked for any rejection. 
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Correct Answer: A 

 

 

QUESTION 4

Which two options are benefits of Port Resource Pooling? (Choose two.) 

A. allows for increased number of network-requested PDP activations 

B. reduces the number of GGSN initiated deactivate procedure 

C. provides resiliency 

D. reduces the signaling towards the SMSC 

E. reduces the number of inter-SGSN RAU procedures 

Correct Answer: CD 

 

 

QUESTION 5

Which organization developed and maintains the Universal Mobile Telecommunications System? 

A. 3GPP2 

B. 3GPP 

C. ITU 

D. ANSI 

Correct Answer: B 
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